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 جاهعت ) الولك سعود (

 (MTHA101ريض )
 (1.)دراسي اول  1441حل اختبار ميدتيرم بديل الوحاضرة تتكلن عن (2هحاضرة رقن )
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A).Classify each of the following numbers into rational and irrational  
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B).Solve the Following inequalities,and write your answer in an interval notation:    
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A).Find the domain of each of the following: 2
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A).Determine whther the functions 2( ) 2 7 ,  1f x x x x      

is one-to-one or not . 
3

B).Given that  the functions 
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A).Let   be an angle in standard position,where its 

rotation is counterclockwise, with arec length 90 cm ,and 

the diameter of the circle is 20 cm . 

Determine the angle in degree.  

4

B).Find the reference angle of 120 . 

degree. 
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D).Verify the identity: 
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 Figureالرسن      (4)

 حولها بالحاسبت الي دراجاث 

in standard position


